Weak and Strong Convergence Theorems of New Iterations with Errors for Nonexpansive Nonself-Mappings

Sornsak Thianwan* and Suthep Suantai**

Department of Mathematics, Faculty of Science, Chiang Mai University, Chiang Mai, 50200, Thailand.

*,** Corresponding authors, E-mails: sornsakt@nu.ac.th* and scmti005@chiangmai.ac.th**

Received 10 Oct 2005 Accepted 30 Jan 2006

ABSTRACT: In this paper, a new three-step iterative scheme for nonexpansive nonself- mappings in Banach spaces is defined, and weak and strong convergence theorems are established for the new iterative scheme in a uniformly convex Banach space.

Keywords: Nonexpansive nonself-mapping, completely continuous, uniformly convex, three-step iteration.

Introduction

Fixed-point iteration processes for nonexpansive nonself-mapping in Banach spaces including Mann and Ishikawa iteration processes have been studied extensively by many authors¹⁻¹³. In 2001, Noor¹⁴ introduced a three-step iterative scheme and studied the approximate solutions of variational inclusion in Hilbert spaces. In 1998, Jung and Kim¹⁵ proved the existence of a fixed point for a nonexpansive nonselfmapping in a uniformly convex Banach space with a uniformly Gâteaux differentiable norm. Tan and Xu introduced a modified Ishikawa process to approximate fixed points of nonexpansive self-mappings defined on nonempty closed convex bounded subsets of a uniformly convex Banach space¹¹. Suantai¹⁶ defined a new three-step iteration, which is an extension of Noor iterations and gave some weak and strong convergence theorems of such iterations for asymptotically nonexpansive mappings in uniformly Banach spaces. Recently, Shahzad¹⁷ extended Tan and Xu's results¹¹ (Theorem 1, p.305) to the case of nonexpansive nonself-mapping in a uniformly convex Banach space. Motivating these facts, a new class of three-step iterative scheme is introduced and studied in this paper. The scheme is defined as follows.

Let X be a normed space, C a nonempty convex subset of X, $P: X \to C$ a nonexpansive retraction of X onto C and $T: C \to X$ a given mapping. Then for a given $x_1 \in C$, compute the sequence $\{x_n\}$, $\{y_n\}$ and $\{z_n\}$ by the iterative scheme

$$\begin{aligned} z_n &= P \left(\left(1 - a_n - b_n \right) x_n + a_n T x_n + b_n u_n \right), \\ y_n &= P \left(\left(1 - c_n - d_n \right) z_n + c_n T x_n + d_n v_n \right), \\ x_{n+1} &= P \left(\left(1 - \alpha_n - \beta_n \right) y_n + \alpha_n T x_n + \beta_n w_n \right), \quad n \geq 1, \\ \text{where } \{u_n\}, \; \{v_n\}, \; \{w_n\} \; \text{are bounded sequences} \\ \text{in } C \; \text{and} \; \{a_n\}, \; \{b_n\}, \; \{c_n\}, \; \{d_n\}, \; \{\alpha_n\}, \; \{\beta_n\} \; \text{are} \end{aligned}$$

appropriate sequences in [0,1].

If $T: C \to C$ and $a_n = \overline{b}_n = c_n = d_n = \beta_n \equiv 0$, then the iterative scheme (1.1) reduces to the usual Mann iterative scheme

$$X_{n+1} = \alpha_n T X_n + (1 - \alpha_n) X_n, \quad n \ge 1,$$

Banach space with Opial's condition.

where $\{\alpha_n\}$ are appropriate sequences in [0,1]. The purpose of this paper is to establish several strong convergence theorems for the three-step scheme (1.1) for completely continuous nonexpansive nonself-mappings in a uniformly convex Banach space, and weak convergence theorems for the scheme (1.1) for nonexpansive nonself-mappings in a uniformly convex

Now, we recall the well known concepts and results. Let X be normed space and C a nonempty subset of X. A mapping $T: C \to C$ is said to be nonexpansive on C if $||Tx - Ty|| \le ||x - y||$, for all $x, y \in C$.

Recall that a Banach space X is said to satisfy *Opial's condition*¹⁸ if $X_n \to X$ weakly as $n \to \infty$ and $x \ne y$ implying that

$$\lim_{n\to\infty} \sup ||x_n - x|| < \lim_{n\to\infty} \sup ||x_n - y||.$$

In the sequel, the following lemmas are needed to prove our main results.

Lemma 1.1 Let $\{a_n\},\{b_n\}$ and $\{\delta_n\}$ be sequences of nonnegative real numbers satisfying the inequality

$$\begin{aligned} &a_{n+1} \leq \left(1 + \delta_n\right) a_n + b_n, & \forall n = 1, 2, \dots \\ &\text{If } \sum_{n=1}^{\infty} \delta_n < \infty \text{ and } \sum_{n=1}^{\infty} b_n < \infty, & \text{then} \end{aligned}.$$

(1)
$$\lim a_n$$
 exists.

 $\lim a_n = 0$ whenever $\liminf a_n = 0$.

Proof. See¹¹ (Lemma 1).

Lemma 1.2 Let χ be a uniformly convex Banach space and $B_r = \{x \in X : ||x|| \le r\}, r > 0$. Then there exists a continuous, strictly increasing, and convex function $g:[0,\infty)\to[0,\infty)$, g(0)=0 such that

$$\left\|\lambda x+\beta y+\gamma z\right\|^{2}\leq \lambda\left\|x\right\|^{2}+\beta\left\|y\right\|^{2}+\gamma\left\|z\right\|^{2}-\lambda\beta g\left(\left\|x-y\right\|\right),$$

for all $x, y, z \in B_r$, and all $\lambda, \beta, \gamma \in [0,1]$ with $\lambda + \beta + \gamma = 1$.

Proof. See¹⁹ (Lemma 1.4).

Lemma 1.3 Let X be a uniformly convex Banach space, C a nonempty closed convex subset of X, and $T: C \to X$ be a nonexpansive mapping. Then I - T is demi-closed at 0, i.e., if $x_n \to x$ weakly and $x_n - Tx_n \to 0$ strongly, then $x \in F(T)$, where F(T)is the set of fixed point of T.

Proof. See²⁰.

Lemma 1.4 Let χ be a Banach space which satisfies Opial's condition and let $\{x_n\}$ be a sequence in X. Let $u, v \in X$ be such that $\lim_{n \to \infty} ||x_n - u||$ and $\lim_{n \to \infty} ||x_n - v||$

If $\{x_{n_k}\}$ and $\{x_{m_k}\}$ are subsequences of $\{x_n\}$ which converge weakly to u and respectively, then u = v. **Proof.** See¹⁶ (Theorem 2.3).

RESULTS

In this section, we prove weak and strong convergence theorems for the three-step iterative scheme (1.1) for a nonexpansive nonself-mapping in a uniformly convex Banach space. In order to prove our main results, the following lemma is needed.

Lemma 2.1 Let X be a uniformly convex Banach space, C a nonempty closed convex nonexpansive retract of x with P as a nonexpansive retraction, and $T: C \to X$ a nonexpansive nonself-mapping with $F(T) \neq \emptyset$. Suppose that $\{\alpha_n\}, \{\beta_n\}, \{a_n\}, \{b_n\}, \{c_n\}$ and $\{d_n\}$ are real sequences in [0,1] such that $c_n + d_n$ and $\alpha_n + \beta_n$ are in [0,1] for all $n \ge 1$ and $\sum_{n=1}^{\infty} b_n < \infty$, $\sum_{n=1}^{\infty} d_n < \infty$, $\sum_{n=1}^{\infty} \beta_n < \infty$. For a given $x_1 \in C$, let $\{x_n\}, \{y_n\}$ and $\{z_n\}$ be the sequences defined as in (1.1).

- (i) If *p* is a fixed point of *T*, then $\lim_{n\to\infty} ||x_n-p||$
- (ii) If $0 < \liminf_{n \to \infty} \alpha_n \le \limsup_{n \to \infty} (\alpha_n + \beta_n) < 1$, then $\lim \|Tx_n - y_n\| = 0.$

Ιf $0 < \limsup (\alpha_n + \beta_n) < 1$ and $0 < \liminf c_n \le \limsup (c_n^{n \to \infty} d_n) < 1,$ then $\lim \|Tx_n - z_n\| = 0.$

(iv) If $0 < \liminf \alpha_n \le \limsup (\alpha_n + \beta_n) < 1$, $0 < \liminf_{n \to \infty} c_n \le \limsup_{n \to \infty} (c_n + d_n) < 1 \text{ and } \limsup_{n \to \infty} a_n < 1,$ then $\lim_{n \to \infty} ||Tx_n - x_n|| \stackrel{\sim}{=} 0$.

Proof. Let
$$p \in F(T)$$
, and $M_1 = \sup \{ \|u_n - p\| : n \ge 1 \}, M_2 = \sup \{ \|v_n - p\| : n \ge 1 \}, M_3 = \sup \{ \|w_n - p\| : n \ge 1 \}, M = \max \{ M_i : i = 1, 2, 3 \}.$

Using (1.1), we have

$$\begin{aligned} \|z_{n} - p\| &= \|P\left(\left(1 - a_{n} - b_{n}\right)x_{n} + a_{n}Tx_{n} + b_{n}u_{n}\right) - P\left(p\right)\| \\ &\leq \|\left(\left(1 - a_{n} - b_{n}\right)x_{n} + a_{n}Tx_{n} + b_{n}u_{n}\right) - p\| \\ &\leq \left(1 - a_{n} - b_{n}\right)\|x_{n} - p\| + a_{n}\|Tx_{n} - Tp\| \\ &+ b_{n}\|u_{n} - p\| \\ &\leq \left(1 - a_{n} - b_{n}\right)\|x_{n} - p\| + a_{n}\|x_{n} - p\| + b_{n}\|u_{n} - p\| \\ &\leq \|x_{n} - p\| + Mb_{n}, \end{aligned}$$

$$||y_{n} - p|| = ||P((1 - c_{n} - d_{n})z_{n} + c_{n}Tx_{n} + d_{n}v_{n}) - P(p)||$$

$$\leq (1 - c_{n} - d_{n})||z_{n} - p|| + c_{n}||x_{n} - p|| + Md_{n}$$

$$\leq (1 - c_{n} - d_{n})(||x_{n} - p|| + Mb_{n}) + c_{n}||x_{n} - p||$$

$$+ Md_{n}$$

$$\leq ||x_{n} - p|| + Mb_{n} + Md_{n},$$

and so

$$||x_{n+1} - p|| = ||P((1 - \alpha_n - \beta_n) y_n + \alpha_n T x_n + \beta_n w_n) - P(p)||$$

$$\leq (1 - \alpha_n - \beta_n) ||y_n - p|| + \alpha_n ||x_n - p||$$

$$+ \beta_n ||w_n - p||$$

$$\leq (1 - \alpha_n - \beta_n) (||x_n - p|| + Mb_n + Md_n)$$

$$+ \alpha_n ||x_n - p|| + M\beta_n$$

$$\leq ||x_n - p|| + M(b_n + d_n + \beta_n).$$

Hence the assertion (i) follows from Lemma 1.1. (ii) By (i), we know that $\lim_{n \to \infty} |x_n - p|$ exists for any $p \in F(T)$. It follows that $\{x_n - p\}, \{Tx_n - p\}$ and $\{y_n - p\}$ are bounded. Also, $\{u_n - p\}, \{v_n - p\}$ and $\{w_n - p\}$ are bounded by the assumption. Now we set

$$r_{1} = \sup \{ \|x_{n} - p\| : n \ge 1 \},$$

$$r_{2} = \sup \{ \|Tx_{n} - p\| : n \ge 1 \},$$

$$r_{3} = \sup \{ \|y_{n} - p\| : n \ge 1 \},$$

$$r_{4} = \sup \{ \|z_{n} - p\| : n \ge 1 \},$$

$$r_{5} = \sup \{ \|u_{n} - p\| : n \ge 1 \},$$

$$r_5 = \sup\{||u_n - p|| : n \ge 1\},$$

$$r_6 = \sup\{||v_n - p|| : n \ge 1\},$$

$$r_7 = \sup \{ \|w_n - p\| : n \ge 1 \},$$

$$r = \max \{ r_i : i = 1, 2, 3, 4, 5, 6, 7 \}.$$
(2.1)

By using Lemma 1.2 we have

$$\begin{aligned} \|z_{n} - p\|^{2} &= \|P((1 - a_{n} - b_{n})x_{n} + a_{n}Tx_{n} + b_{n}u_{n}) - P(p)\|^{2} \\ &\leq \|(1 - a_{n} - b_{n})(x_{n} - p) + a_{n}(Tx_{n} - p) + b_{n}(u_{n} - p)\|^{2} \\ &\leq (1 - a_{n} - b_{n})\|x_{n} - p\|^{2} + a_{n}\|Tx_{n} - p\|^{2} \\ &+ b_{n}\|u_{n} - p\|^{2} - a_{n}(1 - a_{n} - b_{n})g(\|Tx_{n} - x_{n}\|) \\ &\leq (1 - a_{n} - b_{n})\|x_{n} - p\|^{2} + a_{n}\|x_{n} - p\|^{2} + b_{n}\|u_{n} - p\|^{2} \\ &\leq \|x_{n} - p\|^{2} + r^{2}b_{n}, \end{aligned}$$

$$\begin{aligned} \|y_{n} - p\|^{2} &= \|P\left((1 - c_{n} - d_{n})z_{n} + c_{n}Tx_{n} + d_{n}v_{n}\right) - P\left(p\right)\|^{2} \\ &\leq \|(1 - c_{n} - d_{n})(z_{n} - p) + c_{n}(Tx_{n} - p) + d_{n}(v_{n} - p)\|^{2} \\ &\leq (1 - c_{n} - d_{n})\|z_{n} - p\|^{2} + c_{n}\|Tx_{n} - p\|^{2} \\ &+ d_{n}\|v_{n} - p\|^{2} - c_{n}(1 - c_{n} - d_{n})g(\|Tx_{n} - z_{n}\|) \\ &\leq (1 - c_{n} - d_{n})\|z_{n} - p\|^{2} + c_{n}\|x_{n} - p\|^{2} \\ &+ d_{n}\|v_{n} - p\|^{2} - c_{n}(1 - c_{n} - d_{n})g(\|Tx_{n} - z_{n}\|) \\ &\leq (1 - c_{n} - d_{n})(\|x_{n} - p\|^{2} + r^{2}b_{n}) + c_{n}\|x_{n} - p\|^{2} \\ &+ r^{2}d_{n} - c_{n}(1 - c_{n} - d_{n})g(\|Tx_{n} - z_{n}\|) \\ &\leq (1 - d_{n})\|x_{n} - p\|^{2} + r^{2}b_{n} + r^{2}d_{n} \\ &- c_{n}(1 - c_{n} - d_{n})g(\|Tx_{n} - z_{n}\|) \\ &\leq \|x_{n} - p\|^{2} + r^{2}b_{n} + r^{2}d_{n}, \end{aligned}$$

and so

$$\begin{aligned} & \|x_{n+1} - p\|^2 = \|P\left(\left(1 - \alpha_n - \beta_n\right)y_n + \alpha_n Tx_n + \beta_n w_n\right) - P\left(p\right)\|^2 \\ & \leq \|\left(1 - \alpha_n - \beta_n\right)y_n + \alpha_n Tx_n + \beta_n w_n - p\|^2 \\ & = \|\left(1 - \alpha_n - \beta_n\right)(y_n - p) + \alpha_n\left(Tx_n - p\right) + \beta_n\left(w_n - p\right)\|^2 \\ & \leq \left(1 - \alpha_n - \beta_n\right)\|y_n - p\|^2 + \alpha_n\|Tx_n - p\|^2 \\ & + \beta_n\|w_n - p\|^2 - \alpha_n\left(1 - \alpha_n - \beta_n\right)g\left(\|Tx_n - y_n\|\right) \\ & \leq \left(1 - \alpha_n - \beta_n\right)\|y_n - p\|^2 + \alpha_n\|x_n - p\|^2 \\ & + \beta_n\|w_n - p\|^2 - \alpha_n\left(1 - \alpha_n - \beta_n\right)g\left(\|Tx_n - y_n\|\right) \\ & \leq \left(1 - \alpha_n - \beta_n\right)\left(\|x_n - p\|^2 + r^2b_n + r^2d_n\right) + \alpha_n\|x_n - p\|^2 \\ & + r^2\beta_n - \alpha_n\left(1 - \alpha_n - \beta_n\right)g\left(\|Tx_n - y_n\|\right) \\ & \leq \left(1 - \beta_n\right)\|x_n - p\|^2 + r^2b_n + r^2d_n + r^2\beta_n \\ & - \alpha_n\left(1 - \alpha_n - \beta_n\right)g\left(\|Tx_n - y_n\|\right) \\ & \leq \|x_n - p\|^2 + r^2b_n + r^2d_n + r^2\beta_n \\ & - \alpha_n\left(1 - \alpha_n - \beta_n\right)g\left(\|Tx_n - y_n\|\right) \\ & \leq \|x_n - p\|^2 + r^2\left(b_n + d_n + \beta_n\right) \\ & - \alpha_n\left(1 - \alpha_n - \beta_n\right)g\left(\|Tx_n - y_n\|\right), \end{aligned}$$

which leads to the following:

$$\alpha_{n} (1 - \alpha_{n} - \beta_{n}) g(\|Tx_{n} - y_{n}\|)$$

$$\leq \|x_{n} - p\|^{2} - \|x_{n+1} - p\|^{2} + r^{2} (b_{n} + d_{n} + \beta_{n}),$$
(2.2)

If $0 < \liminf_{n \to \infty} \alpha_n \le \limsup_{n \to \infty} (\alpha_n + \beta_n) < 1$, then there exist a positive integer $n_0^{n \to \infty}$ and η , $\eta' \in (0,1)$ such that $0 < \eta < \alpha_n$ and $\alpha_n + \beta_n < \eta' < 1$ for all $n \ge n_0$. It follows from (2,2) that

$$\eta (1 - \eta') g(\|Tx_n - y_n\|)$$

$$\leq \|x_n - p\|^2 - \|x_{n+1} - p\|^2 + r^2 (b_n + d_n + \beta_n),$$
(2.3)

for all $n \ge n_0$. Applying (2.3) for $m \ge n_0$, we have

$$\sum_{n=n_{0}}^{m} g(\|Tx_{n} - y_{n}\|) \leq \frac{1}{\eta(1-\eta')} \left(\sum_{n=n_{0}}^{m} (\|x_{n} - p\|^{2} - \|x_{n+1} - p\|^{2}) + r^{2} \sum_{n=n_{0}}^{m} (b_{n} + d_{n} + \beta_{n}) \right)$$

$$\leq \frac{1}{\eta(1-\eta')} \left(\|x_{n_{0}} - p\|^{2} + r^{2} \sum_{n=n_{0}}^{m} (b_{n} + d_{n} + \beta_{n}) \right)$$
(2.4)

Letting $m \to \infty$ in the inequality (2.4), we get that $\sum_{n=n_0}^{\infty} g(\|Tx_n - y_n\|) < \infty$, and therefore $\lim_{n \to \infty} \|Tx_n - y_n\| = 0$. Since g is strictly increasing and continuous at 0 with g(0) = 0, it follows that $\lim_{n \to \infty} \|Tx_n - y_n\| = 0$.

- (iii) If $0 < \limsup_{n \to \infty} (\alpha_n + \beta_n) < 1$ and $0 < \limsup_{n \to \infty} c_n \le \limsup_{n \to \infty} (c_n^n + d_n) < 1$, then by the same argument as that given in (ii), it can be shown that $\lim \|Tx_n z_n\| = 0$.
- (iv) If $0 < \liminf_{n \to \infty} \alpha_n \le \limsup_{n \to \infty} (\alpha_n + \beta_n) < 1$, $0 < \liminf_{n \to \infty} c_n \le \limsup_{n \to \infty} (c_n + d_n) < 1$ and $\limsup_{n \to \infty} a_n < 1$, by (ii) and (iii) we have $\lim_{n \to \infty} ||Tx_n y_n|| = 0 \text{ and } \lim_{n \to \infty} ||Tx_n z_n|| = 0.$ (2.5)

From
$$y_n = P((1-c_n - d_n)z_n + c_n Tx_n + d_n v_n)$$
, we have $||y_n - x_n|| = ||P((1-c_n - d_n)z_n + c_n Tx_n + d_n v_n) - P(x_n)||$

$$\leq ||(1-c_n - d_n)z_n + c_n Tx_n + d_n v_n - x_n||$$

$$= ||(z_n - x_n) + c_n (Tx_n - z_n) + d_n (v_n - z_n)||$$

$$\leq ||z_n - x_n|| + c_n ||Tx_n - z_n|| + d_n ||v_n - z_n||$$

$$= ||P((1-a_n - b_n)x_n + a_n Tx_n + b_n u_n) - P(x_n)||$$

$$+ c_n ||Tx_n - z_n|| + d_n ||v_n - z_n||$$

$$\leq ||(1-a_n - b_n)x_n + a_n Tx_n + b_n u_n - x_n||$$

$$+ c_n ||Tx_n - z_n|| + d_n ||v_n - z_n||$$

$$= ||a_n (Tx_n - x_n) + b_n (u_n - x_n)||$$

$$+ c_n ||Tx_n - z_n|| + d_n ||v_n - z_n||$$

$$\leq a_n ||Tx_n - x_n|| + d_n ||v_n - z_n||$$

$$\leq a_n ||Tx_n - z_n|| + d_n ||v_n - z_n||$$

$$\leq a_n ||Tx_n - x_n|| + d_n ||v_n - z_n||$$

$$\leq a_n ||Tx_n - x_n|| + d_n ||v_n - z_n||$$

where r is defined by (2.1). Thus

$$\begin{split} \left\| Tx_{n} - x_{n} \right\| & \leq \left\| Tx_{n} - y_{n} \right\| + \left\| y_{n} - x_{n} \right\| \\ & \leq \left\| Tx_{n} - y_{n} \right\| + a_{n} \left\| Tx_{n} - x_{n} \right\| + c_{n} \left\| Tx_{n} - z_{n} \right\| \\ & + 2rb_{n} + 2rd_{n}, \end{split}$$

and so

$$(1 - a_n) \| Tx_n - x_n \|$$

$$\leq \| Tx_n - y_n \| + c_n \| Tx_n - z_n \| + 2rb_n + 2rd_n \|$$

Since $\limsup_{n\to\infty} a_n < 1$ and $\lim_{n\to\infty} b_n = \lim_{n\to\infty} d_n = 0$, it follows from (2.5) that $\lim_{n\to\infty} ||Tx_n - x_n|| = 0$.

Theorem 2.2 Let X be a uniformly convex Banach space, C a nonempty closed convex nonexpansive retract of X with P as a nonexpansive retraction, and $T:C\to X$ a completely continuous nonexpansive nonself-mapping with $F(T)\neq\varnothing$. Suppose that $\{\alpha_n\},\{\beta_n\},\{a_n\},\{b_n\},\{c_n\},\{d_n\}$ are sequences of real numbers in [0,1] with $c_n+d_n\in[0,1]$ and $\alpha_n+\beta_n\in[0,1]$ for all $n\geq 1$, and $\sum_{n=1}^\infty b_n<\infty,\sum_{n=1}^\infty d_n<\infty,\sum_{n=1}^\infty \beta_n<\infty$, and

- (i) $0 < \liminf_{n \to \infty} \alpha_n \le \limsup_{n \to \infty} (\alpha_n + \beta_n) < 1$, and
- (ii) $0 < \liminf_{n \to \infty} c_n \le \limsup_{n \to \infty} (c_n + d_n) < 1$ and

For $\{x_n\}, \{y_n\}$ and $\{z_n\}$ being the sequences defined by the three-step iterative scheme (1.1), we have $\{x_n\}, \{y_n\}$ and $\{z_n\}$ converge strongly to a fixed point of T.

Proof. By Lemma 2.1(iv), we have
$$\lim_{n\to\infty} ||Tx_n - x_n|| = 0. \tag{2.6}$$

Since T is completely continuous and $\{x_n\} \subseteq C$ is bounded, there exists a subsequence $\{x_{n_k}\}$ of $\{x_n\}$ such that $\{Tx_{n_k}\}$ converges. Therefore from (2.6), $\{x_{n_k}\}$ converges. Let $q = \lim_{k \to \infty} x_{n_k}$. By the continuity of T and (2.6) we have that Tq = q, so q is a fixed point of T. By Lemma 2.1(i), $\lim_{n \to \infty} \|x_n - q\|$ exists. Then $\lim_{n \to \infty} \|x_{n_k} - q\| = 0$.

Thus $\lim_{n\to\infty} ||x_n - q|| = 0$. Since $||y_n - x_n|| \to 0$ as $n \to \infty$, and

$$||z_{n} - x_{n}|| = ||P((1 - a_{n} - b_{n})x_{n} + a_{n}Tx_{n} + b_{n}u_{n}) - P(x_{n})||$$

$$\leq ||(1 - a_{n} - b_{n})x_{n} + a_{n}Tx_{n} + b_{n}u_{n} - x_{n}||$$

$$\leq a_{n}||Tx_{n} - x_{n}|| + b_{n}||u_{n} - x_{n}|| \to 0 \text{ as } n \to \infty,$$

it follows that $\lim_{n\to\infty} y_n = q$ and $\lim_{n\to\infty} z_n = q$.

For $a_n = b_n \equiv 0$, then Theorem 2.2 can be reduced to the two-step iteration with errors.

Corollary 2.3 Let X be a uniformly convex Banach space, C a nonempty closed convex nonexpansive retract of X with P as a nonexpansive retraction, and $T:C\to X$ a completely continuous nonexpansive nonself-mapping with $F(T)\neq\varnothing$. Suppose that $\{c_n\},\{d_n\},\{\alpha_n\},\{\beta_n\}$ are real sequences in [0,1] satisfying

- (i) $0 < \liminf_{n \to \infty} \alpha_n \le \limsup_{n \to \infty} (\alpha_n + \beta_n) < 1$, and
- (ii) $0 < \liminf_{n \to \infty} c_n \le \limsup_{n \to \infty} (c_n + d_n) < 1.$

For a given $x_1 \in C$, define $y_n = P((1 - c_n - d_n)x_n + c_nTx_n + d_nv_n)$, $x_{n+1} = P((1 - \alpha_n - \beta_n)y_n + \alpha_nTx_n + \beta_nw_n)$, $n \ge 1$. Then $\{x_n\}$ and $\{y_n\}$ converge strongly to a fixed point of T.

In the next result, we prove the weak convergence of the three-step iterative scheme (1.1) for nonexpansive nonself-mappings in a uniformly convex Banach space satisfying *Opial's condition*.

Theorem 2.4 Let X be a uniformly convex Banach space which satisfies *Opial's condition*, C a nonempty closed convex nonexpansive retract of X with P as a nonexpansive nonself-mapping with $F(T) \neq \emptyset$. Suppose that $\{\alpha_n\}, \{\beta_n\}, \{a_n\}, \{b_n\}, \{c_n\}, \{d_n\}$ are sequences of real numbers in [0,1] with $c_n + d_n \in [0,1]$ and $\alpha_n + \beta_n \in [0,1]_{\infty}$ for all $n \geq 1$, and $\sum_{n=1}^{\infty} b_n < \infty, \sum_{n=1}^{\infty} d_n < \infty, \sum_{n=1}^{\infty} d_n < \infty$, and

- (i) $0 < \liminf_{n \to \infty} \alpha_n \le \limsup_{n \to \infty} (\alpha_n + \beta_n) < 1$, and
- (ii) $0 < \liminf_{n \to \infty} c_n \le \limsup_{n \to \infty} (c_n + d_n) < 1$ and $\lim \sup_{n \to \infty} a_n < 1$.

Let $\{x_n\}$ be the sequence defined by three-step iterative scheme (1.1). Then $\{x_n\}$ converges weakly to a fixed point of T.

Proof. By using the same proof as in Theorem 2.2, it can be shown that $\lim_{n\to\infty} ||Tx_n - x_n|| = 0$. Since X is uniformly convex and $\{x_n\}$ is bounded, we may assume that $x_n \to u$ weakly as $n \to \infty$, without loss of generality. By Lemma 1.3, we have $u \in F(T)$. Suppose that subsequences $\{x_{n_k}\}$ and $\{x_{m_k}\}$ of $\{x_n\}$ converge weakly to u and v, respectively. From Lemma 1.3,

 $u, v \in F(T)$. By Lemma 2.1(i), $\lim_{n \to \infty} \|x_n - u\|$ and $\lim_{n \to \infty} \|x_n - v\|$ exist. It follows from Lemma 1.4 that u = v. Therefore $\{x_n\}$ converges weakly to fixed point of T.

When $a_n = b_n = 0$ in Theorem 2.4, we obtain the weak convergence theorem of the two-step iteration with errors as follows:

Corollary 2.5 Let X be a uniformly convex Banach space which satisfies *Opial's condition*, C a nonempty closed convex nonexpansive retract of X with P as a nonexpansive retraction, and $T: C \rightarrow X$ a nonexpansive nonself-mapping with $F(T) \neq \emptyset$. Suppose that $\{c_n\}$, $\{d_n\}$, $\{\alpha_n\}$, $\{\beta_n\}$ are sequences of real numbers in [0,1] such that

(i)
$$0 < \liminf_{n \to \infty} \alpha_n \le \limsup_{n \to \infty} (\alpha_n + \beta_n) < 1$$
, and

(ii)
$$0 < \liminf_{n \to \infty} c_n \le \limsup_{n \to \infty} (c_n + d_n) < 1.$$

For a given
$$x_1 \in C$$
, define
$$y_n = P((1-c_n-d_n)x_n + c_nTx_n + d_nv_n),$$

$$x_{n+1} = P((1-\alpha_n-\beta_n)y_n + \alpha_nTx_n + \beta_nw_n), \quad n \ge 1.$$

Then $\{x_n\}$ converges weakly to a fixed point of T.

ACKNOWLEDGEMENTS

The author would like to thank the Thailand Research Fund (RGJ Project) for their financial support during the preparation of this manuscript. The first author was supported by the Royal Golden Jubilee Grant PHD/0160/2547 and the Graduate School, Chiang Mai University, Thailand.

REFERENCES

- Chidume CE and Chika Moor (1999) Fixed point iteration for pseudocontractive maps. Proc. Amer. Math. Soc. 127, 1163-70.
- Hicks T and Kubicek J (1977) On the Mann iteration process in a Hilbert space. J. Math. Anal. Appl. 59, 498-504.
- Ishikawa S (1976) Fixed points and iteration of a nonexpansive mapping in a Banach space. Proc. Amer. Math. Soc. 59, 65-71.
- Ishikawa S (1974) Fixed point by a new iteration. Proc. Amer. Math. Soc. 44, 147-50.
- Kruppel M (1997) On an inequality for nonexpansive mappings in uniformly convex Banach spaces. *Rostock. Math. Kolloq.* 51, 25-32.
- Mann WR (1953) Mean value methods in iteration. Proc. Amer. Math. Soc. 4, 506-10.
- Reich S (1979) Weak convergence theorems for nonexpansive mappings in Banach spaces. J. Math. Anal. Appl. 67, 274-6.

8. Rhoades BE (1994) Fixed point iterations for certain nonlinear mappings. *J. Math. Anal. Appl.* **183**, 118-20.

- Rhoades BE and Soltuz SM (2004) The equivalence between Mann-Ishikawa iterations and multistep iterations. *Nonlinear Anal.* 58, 219-28.
- Senter HF and Dotson WG (1974) Approximating fixed points of nonexpansive mappings. Proc. Amer. Math. Soc. 44, 375-80.
- Tan KK and Xu HK (1993) Approximating fixed points of nonexpansive mapping by the Ishikawa iteration process. J. Math. Anal. Appl. 178, 301-8.
- Xu HK (1991) Inequality in Banach spaces with applications. Nonlinear Anal. 16, 1127-38.
- Zeng LC (1998) A note on approximating fixed points of nonexpansive mappings by the Ishikawa iteration process. J. Math. Anal. Appl. 226, 245-50.
- Noor MA (2000) New approximation schemes for general variational inequalities. J. Math. Anal. Appl. 251, 217-29.
- Jung JS and Kim SS (1998) Strong convergence theorems for nonexpansive nonself-mappings in Banach spaces. Nonlinear Anal. 33, 321-9.
- Suantai S (2005) Weak and strong convergence criteria of Noor iterations for asymptotically nonexpansive mappings. J. Math. Anal. Appl. 311, 506-17.
- Shahzad N (2005) Approximating fixed points of non-self nonexpansive mappings in Banach spaces. *Nonlinear Anal.* 61, 1031-9.
- Opial Z (1976) Weak convergence of successive approximations for nonexpansive mappins. Bull. Amer. Math. Soc. 73, 591-7.
- Cho YJ, Zhou HY and Guo G (2004) Strong convergence theorems for nonexpansive nonself-mappings in Banach spaces. Nonlinear Anal. 47, 707-17.
- Browder FE (1968) Semicontractive and semiaccretive nonlinear mappings in Banach spaces. Bull. Amer. Math. Soc. 74, 660-5.